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(1)

242=1224152-2%12x15c0s xcos x=122+152-2422%x12%x15=-2
07360 - x=2.18rad=125.1-

(2)

x2=322+452-2%X32x45c0837°-x=27.37
(3)

x2=152+222-2%x15x22cos 102° - x=29.1
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(4)tan2x+1 =0

tan 2x+1=0-tan 2x=-1-2x=304,7104,1104,1504-x=318,718,11
18,1518

(5)2sin’ x + sin x = 0
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2sin2 x+sin x=0-sin x(2sin x+1)=0-sin x=0 or sin x=—-12-x=0,
m,/1n6, 1106
(6)1 -cosx =12

1—cos x=12-cos x=12 - x=13,513
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(7) f(x) = 6x° - 6x + 12
f(x)=12x—-6f(x)=0-x=12
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B)f(x)=x"-3x" +4x + 3
f(x)=x3—-3x2+4x+3f (x)=3x2—-6x+4A=36—-48=—12<0
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R e uljio oY 1 f7 (x) > 0
(9) fix) = x* - 8’
f(x)=x2—-8x4f (x)=2x—32x3f (x)=0-2x(1-16x2)=0-x=0, x=+14
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